Name : Score :

Teacher : Date :

Expanded Motation

Write each number in expanded notation.

1) 5,918 =
2 4. 596 -
<y 1,049 =
iy 4.889 -
59 1,936 =
B 9.088 -
T 8177 =
3 6.844 -
=l 9.262 -
107 8,929 -
Write Each Number in Standard Form.
113 — (2% 1000) + (4% 100)+ (53 10) + (1 x 1)
12) — (¥ 1000) + (3 1007+ (83 10) + (4 1)
135 — (Bx 1000)+ (2x 100)+ (Sx 10) + (7% 1)
143 — (9% 1000y + (7 1007+ (D3 10) + (0 1)
15) — (4% 1000) + (Bx 100) + (Bx 101 + (0% 1)
167 — (3w 1000y + (3 1007+ (13 10) + (2 1)
17 — (5% 1000) + (5% 100)+ (5x 101 + (3 1)
18) — (1% 1000y + (3 1007 + (43 10) + (243 1)
197 — (T# 10000 + (4% 100+ (1 x 100 + (0% 13
20 — (2% 1000) + (3 100) + (D3 10) + (3 1)
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